
M6
Hex Nut
98689

M6
Flat Washer

87508

M6 x 12
Cap Screw

83443A

M6 x 20
Cap Screw

83447A

M8
Hex Nut
98690

M8
Flat Washer

87510

M8 x 20
Cap Screw

83457A

M8 x 25
Cap Screw

83459A

M10
Hex Nut
98691

M10
Flat Washer

87511

M10 x 25
Cap Screw

83472A

M10 x 30
Cap Screw

83473A

M12
Hex Nut
98692

M12
Flat Washer

87512

M12 x 30
Cap Screw

83486A

M12 x 40
Cap Screw

83488A


